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MONTH OF NOVEMBER
TEST 1
UNIT III GEOGRAPHY OF INDIA

Match the following
Discontinuity Layers of earth
A. Conrad 1. Upper and lower mantle
B. Mohorovicic 2. Outer and inner core
C. Gutenberg 3. Lower mantle and outer core
D. Lehman 4. Lower crust and upper mantle
E. Repetti 5. Upper crust and lower crust
EUIT(HSH SIS
GemLLILL L 6T6D6M6V Ouler  ©|([HdEH6N
A. Gameinym_ 1. Geuaild SHUFSHHIBGWL 2 I SHeuFHIHMBESHLD

BeLLILLL  6T6V6M6V
B. QurGsrGyraldls 2. QeuellsamalBE 2 I smalBEGh SenL Ll L

6T6LEMEV
C. glLalujs 3. 2 I sa1FsHIB@ CeuelldbasmalBEb

@6 LILL L 6160606V
D. GevaBGiosst 61606m60 4. &p GG M@ Gelerll HaUFHHMESLD
@6 LILIL L 6160606V

E. Qg 5. Oeuerll GBsum Y@B@GD Hp GLoBeuml 19ME WD
@6emLLILL L 61606060
A B C D E
a 5 4 3 2 1
b 5 4 2 1 3
C 4 5 3 1 2
d 1 2 3 4 5

Continental Drift theory was postulated by in .

a. Alfred Wegener, 1910 b. Alfred Wegener, 191
c. Karl Pearson, 1910 d. Karl Pearson, 1912
SHeWILb&HTe Gamum® 60 60 G&FmeLELILIL L ).
a. opeouyl Geudbery, 1910 b. eyeouyl Geudenry, 1912
c. &myev Llwiyger, 1910 d. smyed Nwijger, 1912
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Benioff zone is the place where mostly occurs.

a. Volcano b. Earthquake c. Tsunami d. Trench

DFHH  Slenaled gBUGBL UGFH  GuelGQWIT  LDEWIL6VD  6T6lIN)
SIMLPSHBLILBGHBG.

a. enfloemev b. PeupBosid C. &eumLd d. om0

Choose the correct statement.

I.  Focus is the point on the earth’s surface vertically above the
epicentre of an earthquake.

II. Epicentre is the location inside the earth where earthquake
originates.

a.l alone b.II alone c. BothTand IT d. Neither I nor II

gflwmer aumsHwSHmeHdH CHIHoHHHH

L. Beophbs emwowid eeiugd  Yaluler  Guopurlinied  Beopbhes  Gosd
emowllileells@ CpI 615Gy DIMWHH(HBGID LeTal SiEGLD.

II. yeluler o 6MBem MWevphdbsd CaoHreipid ELid MHeupBHs  Goed
enLOWILIL6iTeN  6TeTBeMLDSBLILIBSIBSI.

a. ] B b. II w1 B

c. lwopmd II &yewiio af  d. I wsmid 11 SyesiGo SHeum)

Consider the following statements regarding earthquake.

I.  Pand S waves are body waves

II. P waves pass through all Medium

III. S waves pass through only solid Medium

a. ] is correct b. I, II are correct

c. II, IIT are correct  d. All are correct

USDUD QGHTLTUTET LNTaU(HD UTHSIWRISM6TSH HaUTHH 60 OHT6ITH.

L. P oBmib S @pewiBid  1I' LB OIen60H6i

II. P 9w omarshas Haneoseled &bl 6FeosuilD.

III. S semwev FH Hemeouled o eiten GUITHL GerMlert PG 10 BB  HLHa
O &F60auILD.

a.l sl b.L II & c. II, III & d. omassEn i

Choose the incorrect pair

I. Mt Etna - Active volcano

II. Mt Vesuvius - Dormant volcano

III.  Mt. Fujiyama - Extinct volcano

a.l b. I c. III d. all of the above
SHaupTer Qenenienuld CHiIbHoHbHHEa|D

L. 6TL_60TT  6TIf1LD6m6V - GFweoLIBID  6TflLDenev

II. Oeusaluwierd erflipensy - ® MBRIGLD 6IfILDen60

II. Ouedwmor enflioemev - CFWeIIPHS  6TfILDen60
a.l b. 11 c. III d. GuBasewi.  SHEmTHHID
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Choose the incorrect pair

a. Granite - Igneous rock b. Shale - Sedimentary rock

c. Marble - Metamorphic rock d. Anthracite - Sedimentary rock
SHoumen Eenentenwlsd CHiIbHolSHHS.

a. FHyTeneiL - FliuTeny b. wréEsEed - UeILTEDB

C. Foomaldsded - o omiw utedps  d. QubBHImar - Lige|liuTens
Grand Canyon of India is situated onthe ____ river.

a. Krishna b. Pennar c. Ganga d. Godavari
@hgwumaler Syrenil. CFmIGHH LTNSHTHGH _ UBBled SDieMLbhIHI6Teng?
a. &majeorT b. GuestenT C. HBIBT d. Garmmeuf]

Inter locking spur is an erosional landform found in

a. Meander b. Ox-bow lake c. V-shaped valley d. Grooves
OflHH60 HlevHBHTBMIOTET BeW6eniHFH SHleNETHGHIMIHET _ 60 HTeorlILIBLD.
a. YBBI CUMCTE|H6IT b. aHegs @Gemb eif

C. V-aUI9al LIGTeNSHHTH G d. pewi_ @emb

____are the results of both erosional and depositional processes.

a. Meanders b. Delta c. Estuary d. None of the above
_ eeugl  ofldHe0  BBID  LguDMSH oSl Benih
CFwev(penBHeMaID CHTEIBILD HlevSHEHTHBMLD.

a. QBB CUMEIT6) b. QLeoLm c. afiupsd  d. ergleleveney

Choose the incorrect pair

a. Arcuate Delta - Gangetic Delta in India

b. Estuarine Delta - Seine River of France

c. Bird Foot Delta - Mississippi river, USA

d. Truncated Delta - Western part of Gangetic delta formed by river
Hooghly

QUTHHSTSH Beneurenld CHiIbHo%HbHoHs

a. alled eaugen OLeOLT - @hFHwmaler Smend OIL6OLT

b. sfips GLeoLT — LgTaidled o eitenn &eil M)

C. UBeMaU UTH GLeoLm — 9OWwflHs meEHw BHILged 2 6fen WSFAIT SbBml
OIL60OLTT.

d. siewngdhsii’ L QLedLT - amrdefl SuBBIeL o (Hautdsliul L GuBeg UG
SMHIST GIL_6OLT.

Which of the following are depositional landforms of Glaciers?

I. Moraines II. Outwash plain III. Esker
IV. Drumlins V. Kames
a. [, II, III b. [ I, IV c. I, IL IIL, IV d. all of the above
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Leireumeuemeummled LielliumenBseilen LIge| HleosCHTHBBmIGET eleneu?

I. QoTenyeiraert II. ueflwrBm euewi60 Fwlbeuedl  IIL. ererdamFH6l

IV. wrbefebiser V. @Gslberd

a. [, II, III b. I III, IV c. LILILIV  d. GCuoBsaii. Sienearshgid
Landforms produced by the action of Groundwater is calledas

a. Karst Topography b. Glaciers

c. Moraines d. None of these

BevSHHlg Bl  OFweuTed o (HUTHSLILUBL  HleuhHBHTHmmIGeT _ 6len
SDIMLSHBLILI(HE6HTM360T.

a. SHEWIEITIDL| HlevHBHTBMLD b. uelwTmise

C. QLOTEnT6iTEB6IT d. GG GBI L eHiad &e0enev

Which of the following are erosional landforms due to Groundwater?

I. Sinkholes I1. Doline III. Lappies
IV. Uvala V. Polje
a. I, II, III b. 1L, 111, IV c. I, III, IV d. all of the above

LeiTau(heueieuBmIeT  oTedad  [HlevdHDl B  DfiHHevTe0 2 (HeUTHSLILBLD
BleLHCHTBMWMISH6I

L. 2 fehd Hplemen II. GLmedeor I1I. Georiierd
IV. weureor V. Gumev@ey
a. I, II, III b. II, III, IV c. LIL UL IV  d. GuoBseii. Sienearshgid

The Landforms which are created by erosional and depositional activities
of wind are called as

a. Karst Topography b. Aeolian landforms

c. Glacial landforms d. None of the above

STMN3l6oT 9Ifl&HSH60 LoBMILD Lilgul MEUSHFHE0TEV ® (HeUTeSLILIBLD
HeVHCHTMMMIGET 6l DIeNLPSHSBLILIBLD.

a. smyevl BlevhCHTMBMLD b. gBumelwesr BevdhGHTmmLD

C. ualliuTens BlevSHEHTHBMLD d. GuoBsemi  gHIfle0enev

Pick the odd one out

a. Mushroom rock  b. Yardang c. Zeugen d. Loess
CUTBESTS @eenBd CHIHOISHSS.

a. SIeNTeT LTeny b. wrjLm c. fuysei d. &sTBmly  euewTL 60
Rameswaram is an example of ____ type of wave landform.

a. Tombolo b. Spit c. The Bar d. Beach
gr@werdauyd __ euemad Slewev HleolTUIIBETer 1BHHISHHTL (B

a. HFFT6T BeN6ILILITENS b. iSewiL ewied HI (B

C. LGB (BaH6IT d. s Baeny
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Surface water includes

I.  Ice and snow on land only

II. Ice and snow on land and sea

III. Water in lakes, rivers

IV. Moisture in soil, atmosphere and biosphere

a. [, III, IV b. II, 111, IV c. 11, III d. I, III

GoBugliy B eTeuBeNBOIUIGOTID 2 6iTeNL Sl

L. BovdFHe0 2 6ol UGB 19 OBBID 2 emmUilied Lol (HLD.

II. meub BBID &HLeO ULUGHUID o 6fTen LeNdbHllg OBHBID 2 enmUiLie
oL (BLD.

IMI. sopisefebd, gfleefled o 6iem Hemremnt].

IV. oewr, euefioemieold oBmd o uljeGsmengdled o 6ienm FFUILISLD.

a. L III, IV b. I, III, IV c. IL, III d. I, II

is the largest salt water lake in India.

a. Chilka lake b. Pulicatlake c. Sambhar lake d. Baikal lake
@phsHwrailer sl Guiiw 2 aufny efl
a. fevasr gfl b, yelasrl gfl c. gmbuny gif d. ewused il

__is a large body of water, with a narrow mouth, that is almost
completely surrounded by land.

a. Gulf b. Bay c. Strait d. Sea

___ eeiugl (1IpBBled HlevhHTed @GWLUILLL GBS  (PSHHBHIQUTTLD OIS TemTL
QB SBB BILILTLIL.

a. auemen@GLT b, alflgLr C. BIFFHSD d. sLed

An Exclusive Economic Zone extends from the base line to the maximum
of

a. 200 km b. 200 nautical miles

c. 360 km d. 370.4 nautical miles
SHHH CUTHETTHT] LDGWIL 60D 6I6lIaI6Te| OHTeneva] 6] E(HHEGHWD?
a. 200 &.15 b. 200 &L6O 6MLO6LSHEI
c. 360 &.u8 d. 3704 s&L6O enL6LSHEI
Match the following

Trench Depth (metres)

A. Mariana 1. 7450

B. Tonga 2.10,554

C. Kurile 3.10,882

D. Sunda 4.10,994
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QUIT(HSHSHIS.

Y31 oupd (BL])
A. wflwment 1. 7450
B. Oumreiasr 2. 10,554
C. @fled 3. 10,882
D. sewiLm 4. 10,994
A B C D
a. 1 2 3 4
b. 4 3 1 2
c. 4 3 2 1
d 3 4 1 2
__is the deepest part of the Indian ocean.
a. Kurile Trench b. Aldrich Trench
c. Sunda trench d. None of the above
__ GpIHul GRS 66T LT L.
a. gfled 9B b. opolflF om0
C. GGWILT o510 d. GumseasiL egia|lledenev

Ocean salinity is maximum

a. at the equator b. between 20°and 40° N

c. between 20° and 40° S d. at the Poles

QUHRISL 6T 2 auinilud 60 DIHBTH B(HHEGLD.

a. ywsHuw Grensuiev b. 20°9@mbHaE 40° QU@ elemy

c. 20° pBEH 40°05BE& aueny  d. SHiHeuHIB6TeD

Choose the correct one based on the velocity of ocean currents
a. Drift > Currents > Stream

b. Stream > Current > Drift

c. Drift > Stream > Current

d. Stream > Drift > Current

sLev BHOIMLLmselar GCousdHHlar SuglitiemLulled Ffluwimer eeilenBd
CFuls.

a. smpPlwsGh HOITLLMISeT > BEITLLID > QenL &6l

b. gewLser > BFCIMLLID > STBBlWSEGID HOITL L HIb6I

C. sMEPlwsG HEITLLEIS6T > @l &6l > BOymlLIb

d. gL ser > smBRwsGd BOITLLBIGEeT > BT LD
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Choose incorrect pair

L. Kuroshio current - Cold current

II. ~ Oyashio current - Warm current

III. California current - Cold current

IV. Peru current - Cold current

a.l II b. III, IV c. IV alone d. LI IV
SHoumren enenienwls CHIHOHHHS.

I. &CrmadGuim BEIT L 1b - GofliT BEym LD

II. QurmagdGur BGyT Lb - Geuli BBy LD

III. ®ed. .Gumyelwm mGymM L - GofliT BGym_L1b

IV. OQum pGym Lib - GofliT BGym_L1b

a. Il b. III, IV c. IV o @b d. I I, IV

Sargasso Sea is located in

a. North Pacific Ocean b. South Pacific Ocean

c. North Atlantic Ocean d. South Atlantic Ocean

FIGHTFT HL6L 6IRIEG 2 _6iTeNgl?

a. ALHE udllild GUIHRISL 6L b. OsB& ufls GLEHBIGBL

C. QLG Sl 60menngsd OlLHmISL 6D d. O3B@& @I eoTengd OL(HBIGL 6O
The lapse rate of temperature is____ for every 1000 metres of ascent.
a.1°C b. 6.5°C c. 65°C d. 650°C

Couingd Gome| aldSswoTargdl  @ealdeur@m 1000 6L (HEHEGLD
9 6ll6NG|.

a. 1°C b. 6.5°C c. 65°C d. 650°C

Choose correct pair

I.  Aurora Borealis - Northern lights
II.  Aurora australis - Southern lights
a.l b. II c. BothIand II d. Neither I nor II

gflwmer Qenetenuldh CHibOBHBHD.

L. 9I@ymym Cumflwmederd - euL GHiHeu 6T e6rTiH6IT

II. ©CmT gLevl gmelderd - CHIHIMH W6 e6rMabel

a.l b. II c. I wmmid IT & d. 8yewiG Bevenev

Sea level atmospheric pressureis

a. 1013 mb b.1013.25mb c. 1014 mb d. 1014.25 mb
SL 60 L S0 aUeTIoewI 60 DIIPSHHD

a. 1013 mb b.1013.25mb c. 1014 mb d. 1014.25 mb
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Consider the following statements.

I.  Wind direction is identified by wind vane.

II. Wind speed is measured by Anemometer.

a. I only is correct b. II only is correct

c. Both are correct d. Both are wrong

SIDBHEWIL.  UTEHBLIBIBHENET HaUATHSH60 CBHT6TH.

L. STBBleT SHengenw! SNl LWETLBL SHall STBHI &HlengLome.
II. ompsar Cuasdhmsd Semall LweUBD SmHal STBEBIOTET
a.l w @o &M b. Il w' @G &f

C. ®yewipd &ifl d. @yewihd Heum

Intertropical Convergence Zone lies at/between

a. Equator b. 5°N c. 5°S d. 5°N and 5°S
BeobBHHCHTL(H SImLDG LOGWIL 601 LGS 6ThiEG6Terngl?

a. ywsHw Crremasll LGS b. 5°N c.5°S d. 5° Ne9mps 5°
Seueniy

Choose incorrect pair

a. Karaburam - central Africa

b. Khamsin - Mediterranean

c. Loo - North India

d. Mistral - France

SHaupTer Qenenienuld CHIbHoHBHS.

a. SMJLLT60T - HH W SLLIfldbT

b. smbdler - IDSHHUI  HEJ L6V

C. &I - QL @bglwm

d. e 60 - Ly TesTerd

The speed of Jet stream is

a. 450 miles/hr b. 450 kmph  ¢.500 kmph  d. 500 miles/hr
Ol smmsler Geusid :

a. 450 miles/hr b.450 kmph  ¢.500 kmph  d. 500 miles/hr
pH value of normal rainis

a.54 b.5.5 c.5.6 d.5.7

Suweouimen emipufest pH wagling .

a.5.4 b.5.5 c. 5.6 d.5.7

Cloud seeding (or) Artificial rainfall is caused by seeding ___into clouds.
I. Dry Ice II. Silver Iodide I1II. Potassium Iodide

a. I alone b. II, III c. LI, Il d. none of these
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Gws almali] e00H OFWLMBNS LMD o GuassiH e  almsLligi
CPGULD @ (HeUTSHIB).

L. oumpemr UL HBIGH6T II. fleveuy 2GuimemLL

III. Qum’Lrflund Guimeni_L_

a.l w’ G b. 11, III c. I, II, III d. Bmeu ggIle0meL
The eye of Tropical cyclone is a calm region with

a. minimum rainfall and highest temperature

b. no rainfall and lowest pressure

c. no rainfall and highest pressure

d. maximum rainfall and lowest pressure

GBTeueullell &H6eWI  6I@ILGHI @(H SIMLFHWTET LGHWTGSWD. DSBES SH(peiTern
6lbd H&eMLD OLIM(HHHID?

a. GMWBHS LMPLIGLITPe] LOBEID DIGHS GeuliLIblensy

b. Gmmbs DIPHHD OFTewHIL  mPLIGLTHele060TH LGS

C. 9FB DWHHD OCaTeniL mPLIGLTHale060TsH LGS

d. o1 woPIGUNAe| WHDID GOBHS WSS

Naming of the Tropical cyclone developed in the Indian ocean began in
a. 2000 b. 2002 c. 2003 d. 2004

@AhHW OUBHESL 60 gBUGBLD LweodsenhdE UG aupdHasid S601(H
OSHTLRISIUWISI.

a. 2000 b. 2002 c. 2003 d. 2004

Which of the following are natural decomposers?

I. Fungi II. Bacteria III. Mushroom

a. I alone b. 1, II c. [T alone d. [ II, III

Aeuppled eTemer QuiBend Fe LIGUITTaH6I

I. yehoos II. undieflur II1. ®menmest

a. [ o @ b. L II c. IT @b d. I, II, IIT

The main natural carbon sinks are

I. plants IT. Ocean III. Soil

a. I alone b. II alone c. I II d. I, II, III
(WPSHWIDTET QuIBend HTTUeT BHoHBHMIB6T 6cTen6u?

I. sreuymiser I1. QummIBL eO&H6iT III. et

a.l w’@w b. II ot Bw c. ], 1I d. I, II, III

The optimum temperature required for coral growth is Celsius
a. 20° - 25° b. 23° - 29° c. 25° - 30° d. 30° - 35°
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SL_MBLIGGTRIGET 6UeNTUSBE 2 Hbh H Oleulil Hlenev G LD.
a. 20° - 25° b. 23° - 29° c. 25° - 30° d. 30° - 35°

Mangrove forests of Tamil Nadu are found in .

I. Pichavaram II. Muthupet III. Ramnad
IV. Gulf of Mannar V. Pallikaranai
a. LI IV b.LII,V c.LILLIV,V d. All of these
SODBTL 1960 FHILLH6VSH HTHH6T 6IMhIF 2 6iTereot?
I. W&Fameurd I1. upsaNIGUL enL III. gmomrsyyD
IV. waremjeusnen@Lm V. Ueieldbabyenent
a.L I IV b.LII,V c. LILLIV,V d. Bme SimISHSHID
Match the following
Temperate Grassland Places
A. Steppes 1. South America
B. Prairies 2. Australia
C. Pampas 3. North America
D. Downs 4. Europe and Asia
A B C D
a. 4 3 't 2
b. 4 3 2 1
C. 3 4 1 2
d 1 2 3 4
QUT(HHHIS.
OO ILILDERTL 60L1  L|e0G66T &L 1b
A. er0GILIS 1. OpeaT SIOWDFHHT
B. @guif) 2. 9LengCredwim
C. umbumerd 3. oL OwfésT
D. OQLeneiterd 4, sq@ymium wBmId SLAum

A B C D
a. 4 3 1 2
b. 4 3 2 1
C. 3 4 1 2
d 1 2 3 4

Consider the following statement.

I.  Project elephant was started in 1992.

II.  There are 32 elephant Reserves in India.
a. I only is correct b. II only is correct
c. Both are correct d. Both are wrong
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SPHTEWID UTSHHIBIBENET HAUMHHED OHTEITSH.

L. Wmenedl LTHISTUL SHLD 1992810 LewiB OSHTLMISLILL L F).
II. @hHurelsd GLIHHID 32 WM HTILIGHIGHET 2 666l
a.l w @w &M b. Il w' @G &f

C. @yewi & d. Syewiy Heum

Jhansi Rani Marine National Park is situated in

a. Uttar Pradesh b. Lakshadweep
c. Andaman and Nicobar Island d. Gujarat
soTerdlymeni &Le0gT) Gl YmIST 6Imi@ 2 6ileng)?

a. 2 587 MB8xhaid b. el 556

C. obsone B HEGasmuny $ey  d. Geund

Choose the incorrect pair

a. Project Turtle - 1999

b. Project Rhinoceros - 1987

c. Operation Crocodile - 1975

d. Indian Rhino Vision - 2025 (target year)
CUTEBSTHMBMD CHIHOBHS.

a. BL6L LENLDSHET LTHISTLILSH HLL LD - 1999

b. srewiLmomae UTHISTILS H LD - 1987

C. (PSHEM6VEHEIT GUGTLIL] EUISHSHLD . 1975

d. @b sTewILmOmE UTHISTILS H LD - 2021 (BevsdE& SLewIH)

Which one of the Geographical Phenomenon has helped the great Kings
of the Chola Kingdom to sail their ships across the Indian Ocean?

a. Tides b. Indian Monsoon c. ElI-Nino d. Ocean currents
BeouBmie 6lhd @ Lalulwed mapey Camp DITFTHET SHRIBNTH BHLILIGODHM6N
OhHw GumpmsLI CFassd o sHalwigl?

a. QIHHIBEI b. @bHu umauBTBBI

C. eT60-MHIGeumT d. sLe0 BGym L Mikei

Indian Regional Navigation Satellite System (IRNSS) was officially
named as the NAVIC. What does it stands for?

a. Navigation with Indian Constellation

b. Navigation with Indian continent

c. Navigation with Integrated chips

d. Navigation with International Container

BhHUL uGHesTar BLehally GCewBmsCarer oeowliy (IRNSS) &
oaiew fHwTe NAVIC eeniGuuwr. g6t alflaumdaid
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a. Navigation with Indian Constellation

b. Navigation with Indian continent

c. Navigation with Integrated chips

d. Navigation with International Container

Landsat, SPOT, IRS are

a. Navigation satellite only

b. Earth observing satellite only

c. Earth observing satellite and Remote sensing satellite

d. Spy satellite only

Landsat, SPOT, IRS ersiiLieney

a. oappeued OFwWMensGsTan oL (HLd

b. yal @TCETHEG GCFLBMBBHTET L (HLD

C. Yol &mii@prés weniamid GFHTeney o ewiitey OFwBensCameisel
d. o_eme QFwBensCHmeNTH6i

Find out the below instrument used for surveying

a. GPS b. GPR c. GIS d. IRNSS
LNeTaU(HD H(HaIH6Me0 6% HeldboBBLIL| H(Hal?

a. yalBleneol LB HH6e0 SienLoLL] b. Plev eam@Bmeusy GrLmi
C. UalSHSHHaI60 DIeMLOLIL| d. IRNSS
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